FIRST TERM EXAMINATION (2024-25)
TIME-3 HOURs CLASS XII - BUSINESs STUDIES (054)
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dPer contains 34 questions. Answe
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Larying 4 markg may be abgyt 150 words, Ansy X
200 words. Attempt all parts of a question togey,,
Question 1-20 carry 1 mark, question 21.24

Question gy
Q1 ap 1-34 carry 6 marks,

rs should be brief ang 1o the point.

rs to the questions ( arrying 6 marks may be about
I

tarry 3 Marks, question 25.30 carry 4 marks and
tnmes, 2 business ma

Canng i
. t;](cfhleye the targeteq Production. In
_ =Mective byt oy efficient '

Icient byt not effectiyve

/ concentr
Y Concentrate op Producing goods with fewer resources but (1)

such a case, the business 5 said to be
¢) Both effective and efficient
Q2 To beCOme A | d) Neither effective nor efficient
which the above statement is related °f India, dentify the feature of Profession to
8)" Professional association <) Service motive
b) Ethical code of conduct d) Restricteqd entry

3 .
- The CEO of Best Media .L.td' Ms. AMUPaMa wants 1 get maximum output from the (1)
employees at a competitive cost. On the other hand Raman, an employee of the

company wants to get the maximum Salary \piia working the least. The principle of
Fayol being violated by Raman is

a) Remuneration c) Discipline
b} Eauity Subordination of individual interest to genera) interest.
QA The concept of “mental revolution” as prescribed by Taylor, involves, change in the (1)
mindset of:

a) Worker towards the management
b) Management towards the workers

¢/ Workers and management towards one another from competition to
Cooperation
d) Customers towards the management of the organization.

Q5 The objective of which of the following technique of scientific management is to (1
determine the number of workers to be employed in an organization?

[u—y
~

a) Method study ¢) Motion study
) b) Time study ) Differential piece rate plan
Q6  The principles of pure science are considered to beV 1;,\’ LD in nature. (1)
OR

scientific management technique ingists on hiring specialized or experts for each job

Q7  With rising pollution levels, consumers are becoming conscious about the harmful (1)
effects of polluted air, so the demand for home air-purifiers increasing day by day.
Which dimension of business envlf""me”t'js discussed here:

a) Political environment ¢) Social environmen.t
g«;’" Economic environment d’y’Technolog;lcal environment

Q8  Who are referred to as the Specific forces? Give W0 €xamples.

OR
What do you mean by First mover rdvantage?
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(1)

a busi "Comment
Q_ Planning is not a guarantee of success of a business." Co

Q1o Assertion (A): Planning enables manager to look ahead and anticipate changes to deal (1)
with Uncertyy, events,
Reason (R). Planning involyes rational decisions.
a) Both Assertion g Reason are true and Reason is the correct explanation of
Assertion.

b) Both Assertiop and Reason are true but Reason is not the correct explanation of
Assertion.

c) Assertion is tr o but Reason s false
d) Assertion is false but Reason js true,

QL "Planning is looking ahead and controlling;, looking back." Discuss. A+ a1 £ ]
Q12 For the following two statements choose the correct option (1)

~ Statement [:- Advertising is an impersonal form of communication

Statement |- . Advertising Lacks direct feed back
Choose the correct option from the options given below
a) Statement | js correct and Il is wrong

¢) Both the statement are correct
b) Statement Il is correct and I'is wrong

d) Both the statement are incorrect
Q13 Assertion (A): Control should focys on each and eve
k_ Reason (R): It is easy to keep a check on each and e

a) Both Assertion and Reason are true ang Reason is the correct explanation of
Assertion.

b) Both Assertion and Reason are true and Reason is the not the correct explanation
of Assertion.

c) Assertion is trye but Reason is false.
d) Assertion is false and Reason is trye.

ry activity in an organization. (1)

Q14 ___ isanumber assigned to each transaction by the stock exchange and is printed on (1)
the contract note,
a) Client code number Mnique order number
~ b) Permanent account number d) Depository participant number
Q15 Which of the following statement is INCORRECT? (1)
/ ~ Providing liquidity to securities is oneof the functions of stock exchange.

[

Process of holding securities in electronic form is known as dematerialization
Q//SEBI performs the regulatory function of controlling insider trading imposing
/ penalties for such practices.
- ¢ Capital market consist of commercial banks, development bank, stock.

Q16 “What is financial intermediation? 1)
a) The process which leads to increase in he market price of equity shares.
b) The process by which allocation of funds is done.
c) The process which maximizes current prica of the shares.
d) The process which identifies the gap in savings,

Q17 The size of the assets, the profitability and- Competitiveness are affected by one of the (1)
financial decisions. Name and state the decision.

Q18 Lites limited manufactures LED bulbs with a current production Capacity of 800 bulbs a (1)
day. Sam the marketing manager of the company surveyeq the market and decided to
supply bulbs to Five-star hotels also. He E'f“'Clpaﬂ?d the higher demand in future and
decided to buy sophisticated machines to further impro,, .1\ - L

the bulbs produced. B ® compei? 2024
Identify the factor affecting the fixed capital requiremg,. of the coms 17-09-20
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./"rs to incr "
~ ease in i
¢ profit ;
P 'lal charges like inte earned by the equity shareholders due to presen
3] Capital stry rest. ce of (1)
cture
b) Earnin :
INgs per share ¢) Trading on equity
d) Return on investment bt

«”

Q20 From the f i
ollowing identi
anufacturer o fe retr;ti;feyr thehchannels of distribution in which godid- “ass from the (1)
s who in turn _ s pass from the 1
a) One level cha , sell them to the final use
nnel ¢) Three level channel "

b) Two level chan
nel
d) Zero level channel
e element and  (3)

|| objectives of
ate any two
in the above

Q21 Ashita works j
in a com
coordinate the activiti Pany where her basic task is to integrate divers

the organization. At lesh?f different departments according to the overa
functions to be p.erfor‘;vnelshblevel of management is Ashita working? St
paragraph. y her at this level other than those discussed

the same date. On the last (3)

he opposition of people due ¢ Bl

o that movie. The other R

no competition and Mer -

siness environment i \ ot/

s

Q22 .

Two big banner movies are sch
moment release of s¢ eduled to be released on
to some unethical one movie has to be postponed due 0 ¢
movie was rel content related to their religion Was shown i
e WhiChe eased on time and made huge profit as there was
highlighted h:‘:zs:lzﬂponec‘i suffered loss. Identify the feature of bu
. Also explain two other features of business environment.

_oxl

( -
\Q23\ Differenti .
’ rentiate between single use plans and standing plans. (in table form)
OR 3)

' pany wants to introduce a new product. What ty
Identify and explain the type of plan.

rtance of the concept which ena
ect of availability and timing of fun

pe of a plan should it prepare?

A com
nies to tackle the (3)

bles the compa
h functioning

Q24 Explain the impo

uncertainty in resp ds and helps in smoot

of the organization.

nt of Max Ltd. strongly believe that the members of

ds fulﬁllingrt,b_e,clor,nmgn organizational goals. This requires team
of efforts of all the individuals, departments and specialists. This is

duals and departments depend on each other for information and

tivities. Managers need t0 reconcile differences

in approach, timing, efforts and interest. At the same time it should enable all its

members to grow and develop. Thus theré is a need to harmonize individual goals and |

d here. Also

organizational goals. State the concept of management being discusse

explain any three features of the concep! identified above.
Rico Ltd. decided t0 declare bonus issue of equity shares to the (4)

shareholders in its Annual General meeting. |mmediately one of the directors purchased
n)_a[_ke‘r/and sold them at a very high price, as the bonus was

50,000 shares from the n
Jeclared and made 3 capital gain fromit

the organization (4)

Q25 The manageme
should work towar
work and integration

because all the indivi
resources t0 perform their respective ac

Q26 The Directors of

d by the director.
ain the functions

a) |dentify the typé of malpractice Us€
b) Name the authority which regulates such behavior. Expl
performed by them-
s of importanceé of controlling function of

(4)

)27 State and explain briefly any 4 point
management.
OR

,in the first four st€ps in the controlling process-
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Q28 The court has passed an order that a the schools must have water purifier for the (4)
school children as the society in general is more concerned about the quality of life.
chmques are , lze(lp'g ,de‘vt']oped to manufacture water purifier at

lnnovétfv'é “fe
—_— Ay A
COmpetitive rates. Income are rising and children at home are also drinking purified

water. eTH : . .
busi The governmént is a?so showing positive attitude towards the water purifier
Iness. Identify the g{ifferent dimensions of business environment by quoting lines (
\y

from the above para.s = / , ../
Q29 Bri A A (__’_'»/ al
riefly explain the next four steps in the process of planning which the manager will (4) 7

have to follow after using conjecture about what might happen in future.

Q30 Name the communication tool which help in improving the image of the company.

What is meant b ' e (4)
y Physical Distrib ? N "
Q1 Brie | y ibution? Explajn jt major components. Pt 5V
I€Tly explain the significance of the principles of management? ik K?Lﬁ)::\ 1 Hy
. OR . (‘/V‘\\j\ pad “\} g‘,-‘..‘ '\ "A,.”_/»; -
Explain the principles of Scientific management 4 given by F.W. Taylor oo L e
W. : oA
t_Their (6)

32 i i i
2 o oot i omous chinclin s ey of s n e s
- % Cuits, chips and other grocery items. It charges higher price
.compar.ed to its competitors. Besides it offers regular discounts and easy credit terms to
Its retailers. It has four of its own retail stores. It also sells through various grocery X
stores so that the products are made available at the right place, in the right time and in . ,,—'/
the right quantity. It regularly used different communication tools to increase its sales. <\ O

The above para describes the combination of variables used by Good food to prepare its /}M;,/

market offering. Identify and explain the variables.
What is meant by a stock exchange? State the functions performed by it. (6)

Q33
Q34 Determining the relative proportion of various types of funds depends upon varioais o
factors. Explain any six such factors ) /% /yéo L%c«v (/)\Q)B(‘gv
OR TR A (6)
A Textile company wants to raise funds of %40,00,000 for “its new project. The
management is considering the following mix of debt and equity to raise this amount.
Option | Debt nil and equity- ¥40,00,000 g Oj// )
Option |l DebtX10,00,000 and equity-X30,00,000 Option Jil Debt %30,00,000 and equity, ;\’”1 S s
£10,00,000 D L %,a v -
?tﬁer details are as uv.'ndre‘: i (092 @ E"UQ-U/\&HN C 4
 Interest rate on debt is 9% ! \#gﬁ & co Ly 4 20,69,°
Tax rate is 30% ‘(’Jf— Se ~Q(j-‘(f "j’ et 4 o )
Face value per share is 100 each @ \

EBIT is X8,00,000
a) Under which of the three options will the company be able to take advantage of

Trading on Equity. . <\ 0"
b} Does EPS always rise with increase in debt? ’t \ Y 12O\ i
=< f) o Va4 JT
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